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BRAFEEE2 NGy fa & AFLPEFL B2 (1)

A REa EALEE L HLAL LA
1|&b5HB () IR\ & kg 1,780.00
2|HLE FLIR = 5577 5 (1) b 3.40
3| o2& () a—URih kg 1,560.00
4| T REZL (B Al kg 1,320.00
5lH0L (k) Hiil ik kg 97.00
6L FLIR = 5571 5 (1) kg 400.00
fe—~ FLIR = 5575 5 (%) kg 670.00
8|7-\\B () 7R )\ & kg 2,968.00
9| =—LHR FLIR =5 75 2 (BR) kg 460.00

10|B1ZIESICA LA FLIE = 575 5 (BF) kg 332.00
11|BTADFE H AR5 H B0 (BK) 1 159.00
12|45 BRELESE H AR E & (BR) & 47.00
B3lIFHnAB FLIR =55 5 (1) kg 750.00
14| N5 (BK) Al kg 124.00
15125 FLIR =5 7 58 (BR) kg 1,100.00
16| 4 3% FLIR =557 5 () kg 85.00
17[F ¢~ FLIE =5 7 58 (BR) kg 90.00
18| Z A FLIR =557 5 (1) kg 435.00
19(7>5 FLIR =5 7 58 (BR) kg 300.00
20| KAR FLIR =557 5 (1) kg 85.00
2|77 4w = FLIE =5 75 8 (BR) kg 1,700.00
22|19 FLIR =57 5 () kg 194.00
23| & (B Al kg 298.00
24|11y FLIR =557 3 () kg 340.00
25| £ (k) il Bk kg 95.00
26| I FLIR =55 3 () kg 470.00
27+ FLIR = 5575 5 (1) kg 460.00
28[F~h FLIR =55 5 () kg 345.00
29[ =F~h FLIR = 5575 5 (1) kg 610.00
30|/ a3 FLIR =555 5 () kg 500.00
31| AL FLIR =5 5 (%) kg 1,750.00
32| EMEE (B Al kg 738.00
3B DEH (BK) Al kg 358.00
34wz FLIR =555 5 (1) kg 360.00
35| A0 A (B Hldl % kg 468.00
6| LT TFLLY FLIR =5 75 2 (BR) kg 369.00
37(LEr FLIE = 5575 5 (BE) kg 430.00
38[ /3 LR =5 75 8 (BR) kg 205.00
91Ty FLIR = 477 5 (BF) kg 188.00
40|17 A 7 )L— LR =5 7 28 (BR) kg 630.00
4114FHH o B—h (k) kg 2,180.00
12|EHH b B —1 (BK) kg 1,050.00
43|17 L b B —b () kg 1,980.00
44[JEAR—a b B —b (BK) kg 1,580.00
45| 7'V YT R R G T LR S {E] 46.00
46| FEAA () IR )\ & e 360.00
4TI Terx H () IR\ & e 1,100.00
48[ L Hh S (F)a—URfh kg 446.00
19| KF FLIR =557 5 (1) kg 290.00
501 H 4 () a—Ufh, Z 430.00
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51 YT 420 (¥R & a5, kg 640.00
2| HEA H AR # B 0 (BK) {E] 1,013.00
53 7%T~5F£0)§?§ H AR E &0 (BR) K 1,400.00
54y F—X H AR SR £ (BR) N 313.00
55 HHIFUKAR (BK) Al kg 475.00
56| 4 iR E JgE D H A% B0 (BK) % 550.00
57| HIEYIV A b = (BR) kg 1,050.00
58| L INE AL ) — b B —1 (BK) kg 1,100.00
59| F DA (BK) Al kg 680.00
60[n AL H A% H Bdh (BK) 1 30.00
61|~ FLIR = 575 5 (k) kg 140.00
62| VAT AIKE: (Hi)*ﬂ@z kg 416.00
63| = H AR E & (BR) {E] 8.00
64| A=A T — H AR S FE £ 0 (BR) 43 582.00
6572\ A () R\ & kg 2,968.00
66| EfTEtexz Y (A) IR )\ & kg 6,880.00
67|/ o 1 E8F H AR E & (BK) 43 550.00
68| FIA B AL AT —F ) — A HECES) N 950.00
69| T T (F)2—UR M A 58.00
70| =) LR =257 3R (BR) kg 370.00
71|DFea—r Lk W7 ARG T LR T & 87.00
T2\ RAE— ) —F () IR\ & kg 5,800.00
T3[HEx Y — A (B) ‘& L5 N 925.00
A4SV A o B —b (BK) kg 2,180.00
75|21 EY Y TH H A% E B0 (BK) kg 794.00
76K H S A RIEE by B—hKR) kg 1,080.00
TR —~ (k) Hiil ik kg 840.00
78| — LY H AR EE £ in (BR) i 79.00
T9|SLHZ A< (k) Hiil ik kg 314.00
80| T e 2 72 F W (k) & -85 1% 190.00
81|t —7 (B)=2—URMN 1l 786.00
82|14 —"7"Ih (k) & 125 ZN 870.00
S3|HAL A 7 L —F (B)=2—URM 1 594.00
84| Xy FaRL s H AR E &0 (BR) %N 625.00
852 DAL (BK) W FH s 5 kg 80.00
86| KT K& H AR E & (BR) 13 463.00
87[HE —~ (K Al kg 840.00
88|k 3% FLIR = 5577 5 (1) kg 500.00
89[FH e TH H A2 B0 (BK) 13 844.00
90| ki~ AKX —K () 2—URMm A 360.00
91K e —AEG)D A b B —1 (BE) kg 1,380.00
92(4H 7V W F 0 ARG T L3 A 46.00
93 [ AR AR — T AR H A2 B0 (k) 18 1,203.00
NEES FLIR = 477 5 (BF) kg 142.00
95| F\V =i LR =5 7 28 (BR) kg 740.00
96[)—71 # = FLIR = 477 5 (BF) kg 470.00
ULLESS ()= —URMm it 600.00
98| HLJE- £ (72X AD) H AR E & (BK) 43 348.00
99|z 72 LT e ia Y b B —b (BK) kg 780.00
100 LB b b b B—h(BR) kg 1,180.00
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101 O L&y WA B (BR) & 53.00
102| B 0O BT 3L T P —h H AR/ 0 (BR) 0% 540.00
103| KT AHL —DFH PP (BR) % 1,150.00
104 R EJE L) FU H A H B (BK) 1% 409.00
105\ AL D= s 50T L— A ALY | B AR A () 5 563.00
106 B\ NINET FAN—T A B (BR) 1l 120.00
107D HHOELH P — (B —F) (BR) & L& o 370.00
1083 A Y — A (B)=2—URMN S 1,180.00
109[#5 BBy e & 51T (F)a—URMm N 469.00
10| BRZFEFV D (BR) & L& S 1,160.00
111 e & E R FLIR =5 5 () kg 390.00
112|B T A T —x H b I —h(BK) b 80.00
13| F L2 —F =Ry (B) ‘& L& K 700.00
147 —F = (Iy I A —) (BK) ‘& L& S 700.00
115|728 X H KA (BK) Al 1 1,750.00
BN R3] W =i A=A (Bk) ‘& A 14 860.00
7K 2 —AR vk b B — (BK) e 145.00
118|737 G LAk} (q)=2—URMM 1 76.00
19|77 VX rayhya—R (— ) Bl i AL S A 72.00
120|=—b— T FLACEH () =2—URdh 4 76.00
121|wURRL T H AR E B (BR) K 775.00
122\ BRI X A A E)E () a—U R S 800.00
123| W R AR & R FF H AR E B0 (BK) 43 1,300.00
124 B HRb B AAT —X b FI—h(#K) e 115.00
125|337 D (FaaL—h) H A% E B0 (BK) 4% 807.00
126|717 B —DF (AT T )L) H A RFR B0 (BR) % 650.00
127 RE S FEHT (B)=2—URMN kg 724.00
128|337 DFE (A~ —) H AR &0 (BR) 1% 807.00
129|710 7B —DFE (FLY) H AR H B0 (BK) s 650.00
130(B&[E J&F LR v (BR) & L& %N 745.00
131|595 Z %] KE: FLIR =55 5 () kg 450.00
132| N~ A= DFH (k) & 125 1 1,250.00
133|$Ra e OHh T-HAMUEDB () IR\ kg 5,500.00
134>~ 1/ UEB () R\ & kg 1,680.00
135 I LA HOLEL Y Y — H AR H B (BK) S 669.00
136 BARA Y 7B A7) — I (BR) & L& & 240.00
137|F#RINT T DF (BF) & E &b 13 835.00
138| A= M kit (F)za—URMm 13 340.00
139[C 30 g, (B Al kg 115.00
140( A—2 A (B il ik kg 164.00
41| =R — R — R H A3 B0 (BK) %N 550.00
142 LT LA B ACE YR P 5 (BR) i 78.00
143| BB E - 1 RISEEFITEA (F)a—URih e 196.00
144|2—ANLATA A b B —hBR) kg 1,300.00
145|745 BN A KEETE H A2 B dh (BK) % 525.00
146|556 LD FHE (B) ‘& &5 15 1,440.00
147 E 1B Y P (1K) 13 380.00
148|/E L xH Kt (F)=2—URM 43 380.00
149|010 D) 5 (BR) ‘& A 14 280.00
150)/METH)ALAEFE (F)=—URM 43 290.00
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151 |/ NMSE R () a—U8 4 130.00
152|B4CAS (B)=2—URMN 0% 123.00
153X F U, FLIE =5 5 5 (BR) kg 240.00
154| TV — 2 T AT T A FLIR =555 5 () kg 2,200.00
155|LALDT FLIR = 5577 5 (1) kg 675.00
156 7B L (— W) Bl = ALIR S5 2 P 1l 93.00
157|h~hE 22—l —3F (F)za—URMm {E] 210.00
158|LE Rt (B)=2—URMN N 260.00
15970 Z R D 55 H AR E & (BR) 13 588.00
160|EA T HATAAF —X (—P4) Bhf oL = AL S 2T e 44.00
161/ MEOLSHT-& (F)a—URMm N 132.00
162 I8 77 H oW (B)=2—URMN S 300.00
163|187 L —_Y—— 2 (F)a—UR M 43 478.00
164| OO R K (B)=2—URM S 975.00
165|175 ¥ s Rk (F)a—UR M 0% 395.00
166|777 AR —V s H A3 B0 (1K) 1% 588.00
167 | RO L H H AR E & (BK) 43 700.00
168 £ H A2 B0 (1K) kg 104.00
69| —7 H AR E B (BR) kg 750.00
170 /MR R 22— H ARSI B (BR) i 24.00
171|720 E D (B)2—UR M 43 19.00
172|720 5B o — L A—7 (k) & A AL = ST i 112.00
173|720 LB AL AA—T (k) EvAFLIR = SEPT & 112.00
174 EIEI AV B H ARSI B0 (BR) kg 694.00
175|°0bbEkEY — (B)=—UR M A 168.00
176[ Db MNIEBLRDEDE (BF) B A FLIR = 3T i 112.00
LTT| oD ENTZHDFEN B AT (k) EaAFLIR = 5T {E] 112.00
178| LN A (k) & A ALg = T {E] 112.00
179|737 213 A (B)=2—U&M 1l 195.00
1807 /WY F—KR 4 —H— (BF) B A FLIR = 3T &) 125.00
1815 LA LA (k) Ea A LR = 5T (] 112.00
182|fE LB DO ET=F (k) & A AL = T {E] 132.00
183|3BLHF DY T o — (k) & A AL = ST 1 132.00
1849 fEx (k) & A AL = T {E] 132.00
185|4+EL A b B —1 (BK) kg 9,000.00
186 | e LI T kL (F)za—URMm ZN 368.00
187| KF3I—h (B)=2—URMN 1l 185.00
188 7= L > (F)za—URMm ZN 305.00
189|/ S /&= A IESE Z I3 A (k) B AL = 3T 1 176.00




